Hollow Shaft Type Three-Phase 0.1 kW Non-Brake Type, Brake Type

B Specification Chart

) Brake
Number {Number Voltage Rated current | Rated revolution :
Output| of | of Freq#sncy \% A r/min Protection %%?Hgi Rating |Insulation Rated .
phases | poles 50/60/60Hz 50/60/60Hz 50/60/60Hz Type | torqueof |Insulation
motor torque
aren e 4 | sgsoeo | 200/200/220 | 063/057/058 | 1420116801710 | T | SEM |l Non | Atesst| o
’ phase (400/400/440) (0.32/0.29/0.29) | (1440/1740/1740) (Pad) (IC41gl) excitation| 150%
Note 1: The values in parentheses under "Rated current” and "Rated revolution" are for 400 V class.
Note 2: The protective construction for the brake type is IP20.
- ff‘; = QOutput shaft |Allowable output shaft torque :
Motor | Actul |S & 2 re\L/)olution Allowable output | paying numper
Model number  |outputlreduction|2 5 = r/min N-m |kef-mi| N-m |kef-m} shaft OH.L. of outline
kW | ratic |2 8 B i i
= 8| 2 | 50Hz | 60Hz 50Hz 60Hz N kgt | dimensions
10 1710 150 180 55 | { 056} 46 | {047 1350 { 138}
15 1/15 100 120 78 [ {078 66 | {067 1350 { 138}
20 1/20 75 90 100 | {10} 84 | {086} 1550 { 168}
25 1/25 60 72 18 | {12} 100 | {10} 1550 11568}
CSMAQI0 113 | L
30 1/30 50 60 133 | {14} 14 ({12} 1550 { 168}
40 1740 375 45 185 | { 1.7} 141 | {14} 1550 { 168}
50 1/50 30 36 193 | {20} 166 | (1.7} 1550 {11581
60 1/60 25 30 213 | {22} 183 | {19} 1550 {11581
40 1740 375 45 200 | {20} 170 | { 1.7} 2660 { 271}
50 o 1/50 30 36 260 | {256} 210 | {21} 2660 | 271}
60 ' 1/60 25 30 280 | {29} 240 | {24} 2660 {22711}
75 1/756 20 24 360 | {35} 290 | {30} 2660 { 271}
90 1/90 16.7 20 390 | {39 330 [ {33} 2660 { 271}
16
100 1/100 15 18 430 | {43} 360 | {371 2660 { 271}
HCMAQ10 2
120 17120 125 15 460 | {47} 390 | {40} 2660 { 271}
150 17160 10 12 560 | {57} 470 | {48} 2660 { 271}
180 1/180 8.3 10 598 | { 6.1} 510 | { B2} 2660 { 271}
200 1/200 75 9 603 | {62} 560 | {57} 2660 { 271}
240 1/240 6.3 75 760 | {78} 650 | {66} 3970 { 405}
22
o 300 1/300 5 6 920 | {941 790 | {80} 3970 { 405}
(@) Note 1: The actual reduction ratio is shown as the reduction ratio. (They are all integer ratios.)
'6 Note 2: The output shaft revolution rate is calculated by dividing the synchronous motor revolution rate by the reduction ratio. Calculate the
S actual output revolution rate from the motor's rated revolution rate.
w Note 3: The models marked with 3 are ones for which torque is limited.
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